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Listening Comprehension

Section A :
Directions: In this section, vou will hear 10 short conversations. At the end of each conversation, a question will
be asked about what was said. The conversation and question will be spoken two times. After each

question there will be a pause. During the pause, you must read the four choices marked A), B), C)

and D), and decide which is the best answer . Then mark the corresponding letter on the Answer Sheet

with a single line through the center .

. A) She learnt some bad news.

C) She didn’t like to go home.

.A) They are going to work tonight.
C) They are going to a party tonight.

.A) At a restaurant.

C) At a hotel.

.A) 3. B) 4.

5.A) From upstairs.

6.A) 6:00.
7.A) Indifferent.

() From the Nelsons' house.
B) 7:00.

8.A) It is bigger.

10.A) Tennis shoes.

C) It is a prettier color.

.A) At a baggage counter.

C) At a book store.

Sectlon B

B) Worried.

B) Nothing vet.

B) She didn’t like letters from home.
D) She is ill and looks unhappy.

B) They are going to a movie tonight.

1)) They are going to play cards tonight.

B) At a laundry.

[)) At a department.
C)s. D) None.

B) From next door.

1) From the back door.

C) 8:00. D) 9:00.

C) Happy. D) Angry.
B) It has a larger yard.

D) It has a prettier yard.

B) At an elementary school.

D) At a post office.
C) Some clothes.

D) Music records.

Directions: In this section vou wiil hear 2 short passages. At the end of each passage. you will hear some ques-
tions. Doth the passage and the questions will be spoken two times. After you hear a question, you must
choose the best answer from the four choices marked A ), B), C) and D). Then mark the correspond-
ing letter on the Answer Sheet with a single line through the center .

Passage 1

11.A) He paid no attention to modern education.



B) He thought modern education was a success.
C) He was not satisfied with modern education.
D) He felt modern education was all right.
12.A) Young people did not know what was right and what was wrong.
B) Young people were taught the difference between right and wrong .
C) Young people learned a lot about the difference between right and wrong.
D) Young people should teach themselves what was right.
13. A) The biggest boy. B) The oldest boy.
C) The biggest liar. D) The cleverest boy.
14.A) To stop the boys from playing the game. B) To tell the biggest lie to the boys.
C) To get rid of the cat. D) To teach the boys a moral lesson.
15.A) Because the boys thought he was the most honest person.
B) Because the boys thought he had told the biggest lie.
C) Because the boys wanted to make fun of him.

D) Because the boys had never heard of that before.

Passage 2

16.A) A television announcer. B) A computer programmer.
C) A university teacher. D) A scientist.

17.A) A science fiction movie. B) A scientific program about brain.
C) A drama set in New York City. D) A cartoon program.

18.A) To inform audience of the latest use of computers.
B) To make children learn something about science.
C) To provide more information for scientists.
D) To explain the workings of the brain.
19. A) Because it will be helpful with course work.
B) Because it was made in New York City.
C) Because it is intended for young students.
D) Because it will be shown on a weekend.
20. A) Because it is simple enough for children.
B) Because it is meant for average adults.
C) Because it will be explained in detail.

D) Because it will not use any terms.

Part [] Reading Comprehension

Directions: There are 4 reading passages in this part. Each passage is followed by some questions or unfinished
statements . For each of them there are four choices marked A), B), C) and D). You should decide on
the best choice and mark the corresponding letter on the Answer Sheet with a single line through the cen-

ter .



Questions 21 to 25 are based on the following passage.

In a conversation, eye contact is important because insufficient or excessive eye contact can

create communication barriers. In relationships, eye contact serves to show attention and influ-
ence. ' ‘

"+ Patterns of eye contact are different across cultures. In some cultures, it is considered rude to
stare, especially at strangers. Some westerners feel uncomfortable with gaze that is sometimes as-
sociated with Arab or Indian communication patterns. For them, this style of eye contact is too
intense. Yet too little eye contact may also be viewed negatively, because it may convey a lack of
interest, inattention, or even mistrust. The relationship between the lack of eye contact and mis-
trust is stated directly in the expression, “Never trust a person who doesn’ t look you in the
eyes.” In contrast, in many other parts of the world (especially in Asian countries), a person’s
lack of eye contact toward an authority figure signifies respect. '

It takes practice to know exactly on whom and how long you should lay your eyes in a con-
versation, but understanding the importance of eye contact is the first step to take.
21. The word “excessive” in the first line can be paraphrased as ______.

A) too little _ B) too much

C) unsuitable D) uncomfortable
22.What does eye contact show according to the passage?

A) Respect. B) Mistrust.

C) Attention. D) Rudeness.
23. The lack of eye contact is connected with

A) inattention B) mistrust

C) respect D) all of the above

24 . Which of the following statements is NOT true?
A) Patterns of eye contact vary among countries. .
B) One should always remember to look others in the eyes for a long time.
C) Sometimes, a lack of eye contact means respect.
D) Eye contact is of great importance in conversations.
25. 1t can be inferred from the passage that . v
A) there is a certain rule to follow about how long you should lay your eyes on others -
B) you should not stare at others wherever you are T "
C) a lack of eye contact is always connected with impoliteness
D) it takes practice for a person to know how to conduct eye eontact
Qumions 26 to 30 are based on the following passage ..
I many countries today, laws protect wildlife. In India, the need for such protection was
realized centuries ago. ‘
About300 B.C. , an Indian writer described forests that were somewhat like national parks
today. The killing of game beasts was carefully supervised. Some animals were fully protected.
Within the forest, nobody was allowed to cut timber, burn wood for charcoal, or trap animals for
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their furs. Animals that became dangerous to human visitors were trapped or killed outside the

park, so that other animals would not become uneasy.

The need for wildlife protection is greater now than ever before. About a thousand species of

animals are in danger of extinction, and the rate at which they are being destroyed has increased.

With mammals, for instance, the rate of extinction is now about one species every year; from
A D1 to 1800, the rate was about one species every year. Everywhere, men are trying to solve
the problem of preserving wildlife while caring for the world’s growing population.
26. The word “game” (Line 2, Para.2) probably means .

A) form of play B) international athletic contest

C) wild animal D) bravery
27.How did ancient Indians protect wildlife according to the passage?

A) Nobody was allowed to kill animals within the forest.

B) Even dangerous animals outside the forest were protected from being killed.

C) Ancient Indians could trap animals for their furs.

D) Indians did not realize the importance of wildlife protection until very recently.
28. Why were some dangerous animals killed outside the park in ancient India?

A) Because other animals would not become upset.

B) Because dangerous animals could provide people with many furs.

C) Because visitors were greatly hurt by these animals.

D) Because there were too many of them.
29. Why is the need for wildlife protection greater now than ever?

A) Because all animals are dying out. _

B) Because the problem has become much more serious that before.

C) Because what men are caring about is only the world’ s growing population.

D) Because animals are more important than human beings.
30. Which of the following might be the best title for this passage?

A) How Indians Protect Wildlife. B

B) When Men Started Their Protection of Game Beasts.

C) The Extinction of Various Species of Animals.

D) The Need for Wildlife Protection.
Quéstions 31 to 35 are based on the following passage .

Having no language, infants cannot be told what they need to learn. Yet by the age of three

they will have mastered the basic strueture of their native language and will be well on their ,v\.,vay
to communicative competence. Acquiring their language is a most impressive intellectual feat, Sci-

entists who study how children learn lagguage generally agree that the most remarkable aspect of
this feat is the rapid grasp of grammar.

Nevertheless, the ability of children to conform to grammatical rules is only slightly more
wonderful than their ability to learn words. It has been reckoned that the average high school
graduate in the United States has a reading vocabulary of 80 000 words, which includes idiomatic
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expressions and proper names of people and places. This vocabulary must have been learned over a
period of 16 years. From the figures, it can be calculated that the average child learns at a rate of
about 13 new words per day. Clearly a learning process of great complexity goes on at a rapid rate
in children.
31.Baby under three vears o.d cannot be told what to learn because ____
A) they have no interest in anything
B) they are capable of choosing what they like
C) they are too young to learn anything
D) they haven’t mastered their native language
32 . The word “feat” {IL.ine 5, Para.1) probably means
A) wonderful achievement B) big surprise
C) simple practice D) interesting skill
33. Compared with children’s ability to learn words, their ability to grasp grammatical rules is
A) much better B) equally good
C) a bit more excellent D) far worse
34, The figures in the passage show that
A) children are forced to recite many words
B) school children in the U.S. know more words and grammar rules than those in other coun-
tries
C) learning process grows rapidly in one’s childhood
D) schools should not give children too much stress
35. We may infer {rom the passage that
A) American students are more diligent
B) children are able 10 learn more words
C) there should be a reform in grammar teaching
D) students should speed up their rate of learning words and grammar
Questions 36 to 40 are based on the following passage .

Sigmund Freud is a key figure in the history of psychology. His contributions to personality
theory still dominate contemporary theory about the human personality. Once Freud told a story
about an incident in his private practice. As a certain patient left the office after the appointment
with Freud, he said, “I'll pay you later, Dr Freud. Oh, that is, I'll pay you later.” Freud said
that the seemingly accidental slip of the tongue revealed an unconscious intention. The man did
not want to pay Freud for his service and was only “playing” with him. The patient never paid his
bilt.

The story reveals some important things about hoth Freud and his theories. Although Freud
was in private practice, his primary interest was not money. He was interested in theory and
would have preferred an academic post. He had difficulties because of the fact that he was a Jew,

and private practice was a second-best alternative. The story also illustrates the fact that Freud
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was a determinist. That is, he believed everything is caused. Even seemingly careless errors such

as slips of the tongue have a meaning which suggests that the motive exists outside of the center of

not always know why they do and what they do.

36. The best definition for “psychology” is _

A) the science of the structure , forms and distribution of animals
B) the science of the mind and its processes
C) the science of the nature and growth of society and social behavior
D) the science of the normal functions of living things
37.What did Freud think about one of his patients’ remarks “I'll pay you later, Dr Freud”?
A) He was joking with Freud.
B) He meant what he said.
C) He unconsciously revealed his intention of refusing to pay.
D) He would pay him when he had money.
38.Sigmund Freud’s real interest isin__ _
A) money B) private practice
C) serving patients D) theory
39. Why did Freud have difficulties in obtaining an academic post?
A) Because he was a Jew.
B) Because nobody believed his theory.
C) Because many patients didn’t pay him and he was in debt.
D) Because his personality theory is beyond understanding.
40. According to Sigmund Freud, slips of tongue mean o

A) only careless errors B) nothing important

C) unconscious motives D) humorous stories

Part [l Vocabulary and Structure

Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices marked A),
B), C) and D). Choose the one answer that best completes the sentence . Then mark the corresponding

letter on the Answer Sheet with a single line through the center .

41.1tis highly ___ that he will succeed in beating all his opponents.
A) like 1) likely C) alike D) liking
42. After working for three days without rest, John was so tired that he just _ down and

slept for 24 hours.

A) lied B) laid C) lay D) lain
43.1tis very ______of you to arrange everything for us.

A) considerate BB) considerable C) consideration D) considering
44 . This bookshelf  too much space. There is not enough room for a table.
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45.

46.

47.

48.

49.

50.

51

52.

33.

54.

55.

56.

57.

58.

59.

A) takes on B) takes off C) takes up D) takes after

It is not that I mean to find _______ with you, but that you’ ve really made a serious mistake.
A) weakness B) mistake C) error D) fault

I’ ve got a bad headache, so I took the medicine, but it doesn’ t any difference.
A) do B) get C) put D) make

He was by a kind-hearted couple when he was five years old. Since then, he has never
seen his own mother.

A) adopted B) adapted C) admitted ~ - D) admired

Our singing graup is going to give performance next Wednesday. Don’t miss it.
A)andive - B)alife -+ C)aliving- =~ D)alive

Would you please go downstairs and buy a _____ of bread for me? I am awfully hungry.
A) packet .. B)bag - C) pound .. D)loaf. .

To our delight, there were still some tickets __ for Saturday’s American movie.

‘A) available B) possible - C) expensive . D) reasonable
. When she toved to this big city several years ago, she felt very o

A) alone B) lonely . - - C) single D) personal

1 would like to a special seat for the concert of May 8. (

A) serve B) reserve - C) preserve -~ D) deserve

He talks as if he all the work himself, but in fact Tony and I did most of it.

A) does B) did, C) had done . D) would do

You want to tell me, and I have no objection it. S o
A) to hear B) to hearing =~ C) hearing . D) having heard
My car broke on my way to work this maming so I was late.. . o

A) up B) down o C) off D) apart

He __ all the terminal exams. However, he failed. -

A) should pass = o - B) should be, passing .

C) should have passed ‘ D) should have past

What a lovely holiday! It’s worthy all my life.

" A) to remember . - B) remembering

C) to be remembered : D) being remembered,

I know you are planning a trip to Europe this autumn. Do you know T,

A) how much it will cost , B) how much has it cost

C) how much cost it will be . D) how many will it cost

More than eighty people were informed of the meeting, but only of them turned up fi-
nally.

A) three-fourth B) third-fourths

C) third-fours . L D) three-fourths

There are two small rooms in my beach house, serves as a kitchen.

60.

A) the smaller of which B) the smaller of them



C) the smaller of that D) the smaller of whom

61.1 have nothing to say against her; sheis ___ woman.
A) a most interesting young B) a most young interesting
C) most an interesting young D) a young most interesting
62.Do you know he is an old friend of ______ 7
*A) my father B) my father’s
C) my fathers D) my father’s friend
63. No sooner the parrot flew out and settled in a distant tree.
A) did Mary open the cage when B) Mary opened the cage when
C) had Mary opened the cage than " D) Mary had opehed the cage than
64.  The Adventure of Huckleberry Finn is Mark Twain’s masterpiece. -
A) It is generally believed that B) Generally believed it is
C) Believed generally is - D) That it is generally believed -
65.____ tnainly for the invention of the telephone, Alexatider Graham Bell dévoted his life to
helping the deaf. ‘ : '
A) He is remembered B) While remermbering
C) To remember " D) Though remembered
66. The committee - ready to make its recommendations public.
A) is " B) are ‘ C) have béen D) were
67. This is a big library. Let me know if you find to read.
A) interesting anything B) interesting something
C) somethirg interested D) anything interesting
68.By the end of this year, you all the coutses conducted in English.
A) will finish’ * B) will be finishing
C) will have finished - D) will be finisked
69.The stock exchange exists to provide a channel through ___ the saving can résch those
need finance. ‘ Lo
A) that ... who ' B) which ... who'
C) whom ... that ' o D) what ... that
70. He speaks English better than in the class.
A) any student a ' B) any students’
C) any other student o D) any other L
Part [V Translation

Directions: In this part, there are five items which you should translate into Chinese, each itefn consisting of one

71.

or more sentences. These sentences are all taken from the reading passages in Part 1. :You cdn refer
back to the passagés so as o identify their ings in thk context .

In a conversation, eye contact is important because insufficient or excessive. eye contact can
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create communication barriers. (Para.1 , Passage 1)

72. Animals that became dangerous to human visitors were trapped or killed outside the park, so

that other animals would not become uneasy. (Para.2, Passage 2)

73. The need for wildlife protection is greater now than ever before. About a thousand species of
animals are in danger of extinction, and the rate at which they are being destroyed has in-
~ creased. (Para.3, Passage 2) ‘

74. Scientists who study how children learn language generally agree that the most remarkable as-
pect of this feat is the rapid grasp of grammar. (Para.1, Passage 3)

75. Even seemingly careless errors such as slips of the tongue have a meaning which suggests that
the motive exists outside of the center of consciousness. (Para.2, Passage 4)

Part V | Writing

Directions: For this pari you are required to write a composition entitled Is Failure d Bad :‘Thing?,in three para-
graphs. You are given the first sentence of each paragraph. Your part of the composition should be
about 100 words . o R

i

Is Failure a Bad Thing?

1. Failure is a common thing in our daily life. e
2. However, there are different attitudes towards failure.
3. In my opinion, what really counts is not faiture itself,



Test 2

Part [ Listening Comprehension

Directions: In this section, you will hear 10 short conversations. At the end of each conversation, a question will

H W N =

be ashed about what was said. The conversation and question will be spoken two times. After each
question there will be a pause. During the pause, you must read the four choices marked A), B), C)
and D), and decide which is the best answer. Then mark the corresponding letter on the Answer Sheet
with a single line through the center . '

.A) 10 cents. B) 20 cents. : C) 30 cents. D) 60 cents.
.A) By December 30. B) By January 1. C) By December 3. D) By December 13.
.A) 20 minutes. B) 25 minutes. C) 50 minutes. D) 55 minutes.

.A) He believes that Jack will not be able to sell his house.

B) He believes that Jack is joking.
C) He agrees with the woman.
D) He believes that Jack will quit his job.

.A) A professor and a student. _ B) A hotel manager and a tourist.
C) A salesman and a customer. D) A store owner and hlS manager.

.A) A book seller. ’ ‘ " B) A writer. . (
C) A boss. D) A railroad clerk. |

.A) Father and daughter. : B) Doctor and patient.

C) Boss and secretary. _ D) Boyiriend and girlfriend.

b

.A) He wants Maria to substitute cucumbers for tomatoes.

B) He wants Maria to make salad without cucumbers.
C) He wants Maria to substitute tomatoes for cucumbers. o
D) He wants Maria to make salad without tomatoes and cucumbers

9.A) 6 hours. B) 10 hours. C) 4 hours. D) 8 hours.
10.A) In a library. “B) In an elevator. C) In a hospital. D) In a bank.

Directions: In this section you will hear 2 short passages. At the end of each passage, you will hegr some ques-

tions. Both the passage and the questions will be spoken two times. After you hear g question, you must
choose the best answer from the four choices marked A), B), C) and D). Then mark the correspond-
. 10 . :



ing letter on the Answer Sheet with a single line through the center .

Passage 1

11.

12.

13
14

A) Because the quality of the food is extremely good.

B) Because the food is both delicious and nutritious.

C) Because the service is fast and the food is cheap.

D) Because people can serve themselves in those restaurants.

A) People often go to fasi-food restaurants to taste special food.

B) Fast food served in New York is better than fast food of same restaurant in Chicago.
C) Prices of same food differ among different places.

D) Food and prices remain the same all over the country.

JA) 30% . B) 50% . C) 70% . D) 90%.

.A) Because they cannot afford time to cook meals at home.

B) Because they want to eat something different.
C) Because they are so lazy that they are unwilling to cook by themselves.

D) Because they don’t know how to cook.

15.A) How fast food is made. B) Why fast-food restaurants are popular.
C) When people go to fast-food restaurants. D) What people expect restaurants to do.
Passage 2
16.A) Fiction, non-fiction and reference. B) Fiction, non-fiction and dictionary.
C) Reference, short story and novel. D) Reference, history and geography.
17.A) Reference books. B) Fiction books.
C) Non-fiction books. D) Newspaper and magazines.
18.A) According to the publishing time. B) In alphabetic order of authors’ surname.
C) According to the titles of books. D) According to the contents of books.
19.A) ID card. B) Student card. C) Library card. D) IP card.
20.A) Within a week. B) Before the bocks are due.
C) No time limit. D) As one likes.
Part [l Reading Comprehension

Directions: There are 4 reading passages in this part. Each passage is followed by some questions or unfinished

statements . For each of them there are four choices marked A), B), C) and D). You should decide on

the best choice and mark the corresponding letter on the Answer Sheet with a single line through the cen-

ter .

Questions 21 to 25 are based on the following passage .

of the remaining variables in today’s social world in the West. Women in the West are reasonably

accepted in_the business world and even more so in society, in educational institutions, and in

Who goes first and who follows, and the extent to which women are “emancipated” are some

community. They take part in sports activities with their husbands and often travel widely with
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them, even on business trips. However, despite their growing sense of equality, most of them
still expect, receive, and cherish a number of small special courtesies.

Many men still rise when ladies enter the room on a social occasion—rarely in business—al-
though the custom is fading with the younger generation and under the impact of Women’s Liber-
ation. Nonetheless, most women (of all ages) still appreciate this courtesy when it occurs.

Men usually open doors for ladies, but they stand back and allow them to go through first.
This may be different in China, for the Chinese women traditionally follow the men. Women in
the West usually walk ahead of men into a room or theatre or restaurant unless there is business to
be done—such as choosing a table, handling tickets or buying something. Then the man goes a-
head to attend to the details.
21.The word “emancipated” in the first line can be replaced by

A) managed B) controlled C) liberated D) limited
22.Women are treated equally in all of the following areas EXCEPT

A) sports activities B) educational institutions
C) business trips D) special courtesies
23 .Many men, especially old men will __ __ when ladies come into the room on a social occa-
sion.
A) say hello to them B) stand up
C) ignore them D) stay where they are

24 .In the West, if a man goes ahead of a woman into a room, he usually __ .
A) wants to arrange for something B) respects the woman in the traditional way
C) has good educational background D) know nothing about courtesy
25 .1t can be concluded from the passage that
A) some special courtesies still remain though many changes have taken place
B) the women’s liberation is far from successful
C) Chinese men show more respect towards worrnen
D) equality is impossible to achieve
Questions 26 to 30 are based on the following passage.

Animals perform many useful and entertaining jobs. Dogs are particularly valuable in guiding
the blind, protecting property, finding lost, and hunting criminals. Horses are used in guarding
herds, carrying men in land where there are no roads, and helping farmers work their land. Pi-
geons have long been used to carry messages. People realize that, although animals may not have
the same intelligence as human being, they are smart enough to learn certain things.

The first thing a dog is taught is to obey. It should not take too long for him to learn com-
mands. Training a dog to be a watchdog often produces unexpected results. Some dogs quickly
learn the difference between unwanted people and friends. However, some dogs will always at-
tack the postman who comes to deliver letters. One explanation for this behavior is that, although
the postman comes to the house often, he never enters the house. Therefore, the dog thinks the
postman is someone who is not wanted, but keeps coming back anyway. Dogs can be taught to

C 12 .



